

Page 1 of 1

Florida Department of Transportation

FDOT

Vendor Ranking

Letting: 03180913 October 04, 2018 02:00 **Call Order:** 006 **Contract:** E3S08

PM

District: District 3 Counties: WALTON Fed Aid No: N/A

Contract Time: 180 CALENDAR DAYS

Project(s): 42214327230 (*)

Contract Desc: PONCE DE LEON MAINTENANCE - SR 20 HEADWALLS AND PIPE LINER

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	COASTAL GUNITE CONSTRUCTION COMPANY	Responsive	Winning bid	\$797,495.00	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes. NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY.



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting:03180913October 04, 2018Call Order:006Contract:E3S08District:District 3Counties:DIST/ST-WIDE, WALTONFed Aid No: N/A

Contract Time: 180 CALENDAR DAYS

Project(s): 42214327230 (*)

Contract Descr: PONCE DE LEON MAINTENANCE - SR 20 HEADWALLS AND PIPE LINER

The Improvements under this Site-Specific Contract consist of removal and replacement of six concrete headwalls/end walls along State Road 20 in Walton County, as well as placing Spiral-Wound Pipe Liner within all associated existing pipes, at designated locations shown in the Appendices. Locations are to be completed in the priority order as listed in the appendix. All work performed under this contract shall be performed in accordance with the attached Plans set. Mobilization, Maintenance of Traffic, Stabilization of Shoulder and Dewatering shall be incidental to the bid items.

Line No / Item ID Item Description	Alternate	Quantity Units	(1) COASTAL GUNITE CONSTRUCTION COMPANY					
() indicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	SODDING (SY)						
0005 0104 10 3 SEDIMENT BARRIEF	R	300.000 LF	10.00000	3,000.00				
0010 0104 11 FLOATING TURBIDIT	TY BARRIER	300.000 LF	10.00000	3,000.00				
0015 0110 1 1 CLEARING & GRUBE	BING	(1.000) AC (LS)	145,000.00000	145,000.00				
0020 0400 2 2 CONCRETE CLASS	I, ENDWALLS	115.200 CY	1,450.00000	167,040.00				
0025 0415 1 1 REINFORCING STEE	EL- ROADWAY	10,370.000 LB	5.00000	51,850.00				
0030 0431 1 5 PIPE LINER, OPTION AND GREATER	IAL MATERIAL,	557.000 61" LF	765.00000	426,105.00				



Florida Department of Transportation

10/04/2018

Tabulation of Bids

Page 2 of 3

Letting:	03180913	October 04, 20	018 Ca	II Order: 006		Contract:	E3S08	
Line No / Item ID Alternate Quantity Item Description Units			(1) COASTAL GUNITE CONSTRUCTION COMPANY					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTI	ON: 0001	SODDING (SY)		_				
0035 0570 1	2	300.000	5.00000	1,500.00				
PERFORMANCE	TURF, SOD	SY						
0001 SODDING (SY) Section Totals:				\$797,495.00				
	Contract G	rand Totals:		\$797,495.00				



Florida Department of Transportation

10/04/2018

Tabulation of Bids

Page 3 of 3

Letting: 03180913 October 04, 2018

Call Order: 006

Contract: E3S08

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes. NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY.